Chapter test

Foundation – Chapter 13

13
Sequences
Test

Name:
 Date:


Questions in this test are targeted at the grades indicated.
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1.
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Pattern 1
Pattern 2
Pattern 3



a
Draw Pattern 4.
(1)


b
Complete the table:
(1)

	Pattern number
	1
	2
	3
	4
	5

	Number of dots
	4
	7
	10
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2.
Write down the next two numbers in each of these sequences.



For each, write down the rule you used to get the next two numbers.



a
5
10
20
40


(2)



b
5
6
8
11
15
20


(2)
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3.
Mr Gauss, a mathematician, had the tables at his wedding arranged in the following pattern:
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a
Table 4 follows the pattern of Tables 1, 2 and 3. Draw a diagram to show how Table 4 should be arranged.
(1)


b
Complete the table to show how many people Table 4 and Table 5 would seat.
(1)

	Table number
	1
	2
	3
	4
	5

	Number of seats
	6
	10
	14
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c
Write down how many seats Table 8 has.




(2)
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d
Mr Gauss wants a table that has exactly 39 seats.



Explain why this is not possible at this wedding.



(1)
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4.
Josie wants to buy her mum her favourite perfume as a birthday present.
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The perfume costs £35.



Josie saves £3 the first week and then saves £2 each week.



The table shows the total amount she has saved at the end of each week:

	End of week
	1
	2
	3
	4

	Total amount saved
	3
	5
	7
	9




How long will it take Josie to save the full amount?



(2)
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5.
Write down the next two terms in this sequence:



3
1
6
4
9
7
12




(2)
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6.
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Pattern 1
Pattern 2
Pattern 3



a
Draw Pattern 5.
(2)


b
The shape in Pattern 1 is made from six sticks all the same size. Write down the rule for these patterns.



(1)
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c
Use your rule to write down the number of sticks in Pattern 10.




(2)
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7.
This number machine has been used to produce the terms of a pattern:
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a
Complete the table for the number machine:
(2)

	Input number
	1
	2
	3
	4

	Output
	
	
	
	




b
Write down an expression, in terms of n, for the output when the input number is n.




(2)


8.
Here are the first three patterns in a sequence made from trapeziums:
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a
Complete the table:
(2)

	Pattern number
	1
	2
	3
	4
	5

	Number of white trapeziums
	
	
	
	
	

	Number of grey trapeziums
	
	
	
	
	

	Total number of trapeziums
	
	
	
	
	




b
Write down a formula, in terms of n, for the number of grey trapeziums in pattern number n.



(2)



c
Write down a formula, in terms of n, for the total number of trapeziums in pattern number n.



(2)

(Total = 30 marks)
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